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Explanations and answers to select questions

01 Option (C) is the correct answer. ‘Fete’ is pronounced as ‘Fate’,so rhymes with ‘Date’.

02 Option (B) is the correct answer. Its homophone is ‘Feint’.

04 Option (D) is the correct answer. The plural can also be ‘swine’.
07 Option (A) is the correct answer. The correct spelling is ‘Amulet’.

08 Option (D) is the correct answer. Bit = Binary+Digit.

10 Option (D) is the correct answer. The two adjectives are : ‘friendly’ and ‘lonely’.
11 Option (B) is the correct answer. They are : il-lu-sion.

12 Option (C) is the correct answer. The five other words are : opts, post, pots, stop and tops.
21 Option (A) is the correct answer. The phrase ‘together with’ is not a conjunction and neither does it work

so. That leaves the verb, only a singular subject (Ana) to agree with.
22 Option (D) is the correct answer. The subject is ‘Neither’, meaning ‘not either’ or ‘not any’, a singular.

24 Option (D) is the correct answer. The pronunciation of ‘s’ is as in ‘ace’, and the pronuncia-tion of the first
syllable of ‘apostrophe’ is as in ‘affordable’, both vowel sounds, so ‘an’.

25 Option (C) is the correct answer. Arithmetic expressions require singular verbs.

31 Option (B) is the correct answer. As the reporting verb (says) is in the present tense, there is no change of
tense in the reported speech.

32 Option (D) is the correct answer. As the staetement is a universal truth, there is no change of tense in the
reported speech.

(Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.)
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